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Mental Alility 1

Group Number : 1
Group Id : 545927661
Group Maximum Duration : 0
Group Minimum Duration : 0
Revisit allowed for view? : No
Revisit allowed for edit?: No
Break time: 0
Group Marks: 20
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0
Mental Ability 1
Section Id : 545027661
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20



Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 545927793
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 54592713333 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wwhich of the following words cannot be made by using the letters from the given word?

FROWEREIAL
Options:

1. % BRAVO
2. % LAEOR
2. % PROVE

4. & VALUE

Question Number : 1 Question Id : 54592713333 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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FROVEREIAL
Options:

1. ® ERAVO
2. % LAEBOR
2. % PROVE
4. ¥ VALUE

Question Number : 2 Question Id : 54592713334 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the term that will come next in the following series.

H2L5Z, 5201, MN1EF,
Options:
1. % J10L

2. ¥ 10K
2% H10J]
4 % DLG

Question Number : 2 Question Id : 54592713334 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
e ST TE AT H# ST STAT U2, ST JHET D w0

K252, 52010, M1EP,
Options:



1. % J10L
2 ¥ 110K
3. % H10J]
4 % DEG

Question Number : 3 Question Id : 54592713335 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the missing term in the following letter series.

OHEHHNO, ¥¥NHYOO, X¥HHEOO, HHHOKD, H¥¥OXHo, ¥
Options:

1. % HOXNHHO

2. ¥ HHOHNEO

3. % HOXHHOX

4. % OHOEHHE

Question Number : 3 Question Id : 54592713335 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TRRET S1a/ o= | g7 U ®1 ST @

OHAENHHO, ¥XHHEOO, H¥HEHEOO, {EXHOHD, HEXOEHO, ©
Options:

1. % HOXEHHHO

2. ¥ HHOHHED

3% HOEHHOK

4, ® CQHOXHHY

Question Number : 4 Question Id : 54592713336 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Cut of the given options, three are simmilar in a certain manner. However, one option is MOT like the other three,
Select the option which is different from the rest.

Options:

1. % DEF
2. % JHL
2. % PNE
4 ¥ TV

Question Number : 4 Question Id : 54592713336 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

%qrr%ﬁfﬁﬁﬁﬁ A T TS FF & T 8 §IAT, U [dded ST o 4 o1 a¥g Agl 51 99 e @1 oa & o1 9Tl &
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Options:

1. # DEF
2. % JHL
2 % PNE



4. ¥ TVX

Question Number : 5 Question Id : 54592713337 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Cut of the given options, three are simmilar in a certain manner. However, one option is MOT like the other three,
Select the option which is different from the rest.

Options:

1. % Train
2. % Bus

2 % Taxi

4 ¥ peroplane

Question Number : 5 Question Id : 54592713337 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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STEATT

Options:

1. % EmaET
2. % =g

3. ® el

4 o

Question Number : 6 Question Id : 54592713338 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In1 the given options 2 pair of words are similarly related and one pair is differently related. Find the pair
which is differently related.

Options:

1. ¥ Sugar : Sweet
2. % Lemorn : Yellow
2. % Leaf: Green

4. % Snow : White

Question Number : 6 Question Id : 54592713338 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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HelTad gl
Options:

1. & =T daT
2 ® i g
3 % Er g
4 ® BW: ang

Question Number : 7 Question Id : 54592713339 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Select the option that is related to the third term on the same basis as the second term is related to the first
term.

WDE CEWC o WBD 7P

Options:

1. ¥ D]

2. % UZO

3% TYN

4. * HCR

Question Number : 7 Question Id : 54592713339 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
I Toiey 1 = e SA1 d 1 g I AR F el 2 e W R UE U e o Hered gl

VDE CEWC D WBSD Y
Options:

1. % DY]

2. % UZO

2% TV

4 % HCE

Question Number : 8 Question Id : 54592713340 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the option that is related to the third term on the same basis as the second term is related to the first
TermmL

Fly : Alr o Swirni: 7
Options:

1. ® Costurmne

2. ¥ Water

2. % Pool

4. % Exercise

Question Number : 8 Question Id : 54592713340 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
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T2 A - AT
Options:

1. % qramr

2. ¢ gt

3 % OA

4. % AN

Question Number : 9 Question Id : 54592713341 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



From the given options find a pair of letters which is analogous to the given pair.

SICHGOX
Options:

1. % SBZ : TBE
2. ® RAY:TUC
3. ¥ TDA - GWZ

4. % Q7% CDE

Question Number : 9 Question Id : 54592713341 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % SBZ : TBE

Z % RAY:TUC

3V TDA - GWZ

4. % QI¥:CDE

Question Number : 10 Question Id : 54592713342 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
If COMREADES is coded as DOQFVF]JLA, then MACHINE will be coded as

Options:

1. ¥ NCFLMTL
2. % NCFMPTL
2. % NCFMSET

4. % NCFEPTK

Question Number : 10 Question Id : 54592713342 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
I COMRADES ®IDOPVF]LA & &7 H Fif2d [Far=ar g, ST MACHINE & ___________ o = § wifEa Torar A

Options:

1. % NCFLNTL
Z % NCFMPTL
3. % NCFMSET
4. % MNCFEPTE

Question Number : 11 Question Id : 54592713343 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In a certain code language, 352 means 'vou are here', 482 means 'we are there' and 213 means 'here or there'.
Find the code for 'or'.

Options:
1. %3
!



3. %8B
4 ® 2

Question Number : 11 Question Id : 54592713343 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T TedT g AT H, 352 @7 a0 § 'you are here!, 452 @7 a7f § 'we are there ' 3T 813 &7 28f & 'here or there''or ' &
o @iz T w0

Options:
1. % 32
z ¥ 1
3% 8
4 % 2

Question Number : 12 Question Id : 54592713344 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Here are some words from an artificial language.

'hofmok! means handshake!,
'boftay' means 'shakeout

'zartay' rmeans ‘outsmart'.

Which word would mean 'srmartest'?

Options:

1. % moklex
2. % bofnod
2. ¥ jivzam
4. % tayhif

Question Number : 12 Question Id : 54592713344 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
ARt U FOH W G g AT T A

'bofmol ®7 a6 § handshaks'
'boftay' @ ekt & 'shakeout!
'zarmtay' @ 2Rf 7 'outsmart!
ToreT aleg T a1 'sthartest' §7

Options:

1. % moklex
2. % hofnod
2. ¥ jivzam
4. % tayhif

Question Number : 13 Question Id : 54592713345 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Arrange the following words as per order in the English dictionary and choose the last word.

1. FRACAS
2 FOURTH
. FEAMNCE
4. FREAKS
= FEAMED

Options:

1. % FOURTH
2. % FRACAS
3. ¥ FREAKS
4 % FRAMNCE

Question Number : 13 Question Id : 54592713345 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
tel Tem T gl W 5H UK O W] e i o TRt St fE et o e, o ST st st s At g

1. FRACAS
2 FOURTH
. FEAMNCE
4. FREAKS
= FEAMED

Options:

1. ® FOURTH
2. % FRACAS
3. ¥ FREAKS
4 % FRAMCE

Question Number : 14 Question Id : 54592713346 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
If the 9th of a month falls on a Monday, 25th of that month will fall on which day of the week?

Options:

1. * Sunday
2. ® Thursday
2 % Monday

4. ¥ Wednesday

Question Number : 14 Question Id : 54592713346 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

e AE I T 9 TG HHAR U241 g, 91 39 R #1 25 T JH1E & g g vy
Options:

1. % TRET

2 ¥ Eaw
3. % gmEw

4 & FHEaw

Question Number : 15 Question Id : 54592713347 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25

At a family gathering M explained her relation with M by saying that I is the grand son of M's father's
daughter-in-law. If M's father and M have no siblings, then how is I related to M7

Options:

1. % Son

2. % Erother
2. % Father

4. % Sorn-in-law

Question Number : 15 Question Id : 54592713347 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

e UTICET ek FAT # M T 1 3 |0 S0 Felel 7 95 Fgd, g GRSTT i 1, M o T0aT 3 T @ Taere @7 aia g1 g M & fudr oK
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Options:
1. ¥ der
2 %
3 ® fuar
4. % TS

Question Number : 16 Question Id : 54592713348 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

If theletters N, F, D, R, [ & E are numbered 1, 2, 3, 4, & & & respectively. Select that combination of numbers so
that letters arranged accordingly, form a meaningful word.

Options:

1. % B42315
2. % 2456132
2% 2413558

4 % 532614

Question Number : 16 Question Id : 54592713348 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

qf e M, F, D, R, I MCE ®AM: 1, 2, 3, 4, 5 3% & WIS 2] Teaml o 38 2= &1 o @1, ST S8R & Agar oJa i
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Options:
1. % 842315

2. ¥ 245613
2% 241356
4 % 532614

Question Number : 17 Question Id : 54592713349 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Sixstudents P, O, K, 5, T and 1T are purmished and they are standing with their backs to the wall. U 15 betweery 5
and F. R is at one end. T i5 ot at the end and is to the right of P 5 is not at the end. T and R are not next to
each other. Who is to the left of G7

Options:
1.9T



2. %R
3% 5
4 ®p

Question Number : 17 Question Id : 54592713349 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

FEEEP, QR 5, TN U Sl aied P ATz iR TSR il AR s i g @2 dral U, S iR P S A 51 B UF 61T W 31
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Options:
1.¥T
2 %R
3% 5
4 % P

Question Number : 18 Question Id : 54592713350 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Read the given statermnent and conclusions carefully and decide which of the conclusions logically follows(s)
frorm the statement.

Staternent: Reported incidences of cheating during final exam were rmuch higher in a particular school as
cormpared to last year.

Conclusion [ There were more invigilators during final exam this vear as compared to last vear.
Conclusion I1 ; Final exam papers this vear were more difficult as compared to last vear.

Options:

1. % Only conclusion I follows

2. % Only conclusion I follows

2. ® Both conclusion [ and II follows

4 % HNeither conclusion [ nor 11 follows

Question Number : 18 Question Id : 54592713350 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % ot Tmepy I SIeo #3aT &

2. % e Teeand 11 SIe aT g

3 % gt ey 1 o I argaeoT avd &

4 & T T 1 o T T arge aaT g

Question Number : 19 Question Id : 54592713351 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



The staternents below are followed by two conclusions labelled [ and I . Assuming that the information in the
staternents is true, even if it appears to be at variance with generally established facts, decide which conclusion
i) logically and definitely follow(s) frorm the information given in the staterments.

Staterments:

[ All insects are worms.

II. NO wormis are ants.

Conclusions:

[ S0me insects are not ants.

II. Some ants are not wormns.

Options:

1. % Only conclusion I follows

2. % Only conclusion I follows

3. ¥ Both conclusion I and II follows

4. % MNeither conclusion I nor 11 follows

Question Number : 19 Question Id : 54592713351 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % ot Tmepy I SIeo #3aT &

2. % e Teeand 11 SIe aT g

3 ¢ g ey 1 e I argaeoT o &

4 % Fr ey 1 o T g1 arge aar g

Question Number : 20 Question Id : 54592713352 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which two signs should be interchanged to make the below equation mathematically correct?

B4+ 16-124+2x7 =38
Options:
1. % - x

oW o+
39+, =
4. % _ 4

Question Number : 20 Question Id : 54592713352 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Ed - 16-124+2x7 =38
Options:
1. % - =

R
3.9 +, =+
4 % - 4

Mental Ability 2

Group Number : 2
Group Id: 545927662
Group Maximum Duration : 0
Group Minimum Duration : 0
Revisit allowed for view? : No
Revisit allowed for edit?: No
Break time: 0
Group Marks: 20
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0
hental Ability 2
Section Id : 545927662
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 545927794
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 54592713353 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which two nurmbers should De interchanged to make the below equation mathematically correct?

SODxE5+6-183+2=8586
Options:
1. % g 18

2 %36
3. ¥ 18,30



4 ® 56

Question Number : 21 Question Id : 54592713353 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

et oy T AT @ i e w0 J wE e @ T T g1 St S e ST N T ST 1
w54+ E-18+2 =56

Options:

1. % g, 18

2 % 36

3. ¥ 18,30

4 % 5B

Question Number : 22 Question Id : 54592713354 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
select the option that is related to the third term in the same way as the second term is related to the first term.

25 B4 04907
Options:

1.9 218

2. % 210

3. % 208

4 % 214

Question Number : 22 Question Id : 54592713354 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
9 Tefeped T e B ST o 19 U & I FR | Waled e W gE uE Uge Ug o HellHd gl

25:64::43:7
Options:

1.9 218

2. % 210
3% 208

4 ® 214

Question Number : 23 Question Id : 54592713355 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A narnber series 15 given here, orly ore mumber 15 wrong in the series, find out the WIOTLE riarmber

35, 63, 100, 143, 195, 255, 223
Options:

1. % 35

= ¥ 100

3% B3

4 % 143



Question Number : 23 Question Id : 54592713355 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TET GET T AT &1 T8 &, SGeT H had U 6] TAd &, Tod GedT & A1 P

35, 63, 100, 145, 135, 255, 223
Options:

1. % 35

2. ¥ 100

2% G3

4 % 143

Question Number : 24 Question Id : 54592713356 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Out of the given options, three are similar in a certain manner. Howewer, one option is NOT like the other three,
Select the option which is different from the rest.

Options:
1. % 25
= ¥ 125
3% 225
4 % 1225

Question Number : 24 Question Id : 54592713356 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

mﬂ%ﬁwﬁﬁﬁ A1 Ter TS Foi | T 51 §TATE, U [ded ST o 14 1 a¥g Al 51 39 e &7 == & A7 aehl |
ATETT

Options:
1. %25
2 ¥ 125
3. % 225
4 % 1225

Question Number : 25 Question Id : 54592713357 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Select the option that is related to the third term on the same basis as the second term is related to the first
termL

0160032 1.28:7
Options:

1. % 032

= ¥ 0256

2% 064

4 % (016

Question Number : 25 Question Id : 54592713357 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



=9 Tefepe @7 e B ST A T UE I AR | Haled e W o gE uE Uge Ug o HellHd gl

01lc: 00321287
Options:

1. % 032

2. ¥ (0256

2% 064

4 % 016

Question Number : 26 Question Id : 54592713358 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Cornplete the following number series:

-5, -3, 1,7, 15, 25,
Options:
1. % 326
= W 37
2% 34
4 % 35

Question Number : 26 Question Id : 54592713358 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
-5, -3,1, 7, 15, 25,
Options:
1. % 326
2 ¥ 37
2% 34
4 % 35

Question Number : 27 Question Id : 54592713359 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the rmissing number in the given nurriher Series.

23,5813 7,24
Options:
1. % 15
2. % 20
3. % 25
4 ¥ z1

Question Number : 27 Question Id : 54592713359 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
ST TS HET AT § FH T ® A1 FA

2,3,5,8,135, 7,24



Options:
1. % 15
2. % 20
3% 25
4.9 21

Question Number : 28 Question Id : 54592713360 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Out of the given number pairs, three are sirmilar in a certain manner. However, one pair is NOT like the other
three. Select the pair which is different from the rest.

Options:

1. % 259, 740
2. % 199, 800
2. ¥ 436, EE4
4 % 245, 753

Question Number : 28 Question Id : 54592713360 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
1. % 2549, 740

2. % 199, 800
3. ¥ 436, B4
4. ® 24g, 753

Question Number : 29 Question Id : 54592713361 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
If 4#2 = 16, 9#1 = 9, 5#2=125 then find the value of 6#2 = 7

Options:
1. % 9
2. % 3
3. ¥ 216
4 % 36

Question Number : 29 Question Id : 54592713361 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
qfE 4#2 = 16, 9%#1 = 9, S#3 = 125 516 # 3 = 7 T Trd 9119 F4

Options:
1. %9
2. % 3
3. ¥ 216
4. % 36



Question Number : 30 Question Id : 54592713362 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the following figure, rectangle represents writers, triangle represents botanists, circle represents mothers
and square represents Indians. Which set of letters represents mothers who are NOT botanists?

//4—'_‘—'--\_‘
G

o E
A

B
Options:
1. # ACE
= ¥ CDE

3. % EFE
4. % EG

Question Number : 30 Question Id : 54592713362 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
1. % ACE
= ¥ CDE

3. ¥ EFE
4. % EG

Question Number : 31 Question Id : 54592713363 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

which of the following Venn diagrams best represents the relationship between fathers, grand mothers and
living things?

Options:



2. 23 e e
o
| b \"
L
z %
4 ®

Question Number : 31 Question Id : 54592713363 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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"
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Question Number : 32 Question Id : 54592713364 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Two ships 5 and R start from the same port. Ship S sails 50 miles East, then it turns right and sails 75 rniles,
then it turns to its right again and sails 25 rules. In the meanwhile Ship B sails 125 rules Soath, then it turns
left and sails 25 miles, then it turns South and sails 25 miles. Where 15 Ship S with respect to Ship R?

Options:

1. % 75 miles MNorth
2. % 75 miles South
2. % 225 miles North
4. % 225 miles South

Question Number : 32 Question Id : 54592713364 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A S AW R U 51 datiTlg & W1 5id 5 A5 5 S0 W6 Oe &1 &I 67 &, O 95 210 g2a71 2 & 75 Hie &7 0 39 #ear
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Options:
1. % 75 #iF 3av

o ® 75 die i
3 ® 220 Hie IoW
4 #® 2oC e TiE

Question Number : 33 Question Id : 54592713365 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Two tennis plavers T and U were facing each other. T was facing MNorth-west. U stretched both his arms
outwards sidevways. In which direction was 1I's left arm pointing?

Options:

1. * South-East
2. % lorth-East
2. % South-wWest
4. % IMorth-est

Question Number : 33 Question Id : 54592713365 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

BT ST TEEIST T 8710 U Uk ¢ T HIAAT ¢ 05 91 T 1 gy Fo-Uie i 871 M U+ s ST gRy amge @1 & ey U @
AT BT o Team F anr?

Options:

1. % gigor-e
2 ¥ Fm-gd

3. % gig-uEm
4. % FH-UEWH

Question Number : 34 Question Id : 54592713366 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Ot of the four options three are similar in a certain way and one is different. Find the option which is
different.

Options:



1 &
D >4
N U
. >
NV
AQD
3 >
VI
£
=
4

Question Number : 34 Question Id : 54592713366 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 35 Question Id : 54592713367 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Four pairs of figures are given. Three pairs are similar in a certain way and one is different. Find the pair of
figure which is different.

Options:

8 4 | 2

6 2

4 6 | 8
1. %

1 7|5

7 3

5 1 3
o W

6 . 4

8 4

2 8 | 6
3 #®

3 7|5

5 1

7 1 3
4

Question Number : 35 Question Id : 54592713367 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:




7 3
5 1 3
2 ®
6 “) 4
8 4
2 8 | 6
3 ¥
3 715
5 1
7 1 3
4

Question Number : 36 Question Id : 54592713368 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A& figure series of 6 parts is given. Out of these, 4 parts are labelled 4,E, C and D. One of these 4 parts is
incorrect. Find the incorrect part.

O # X # o
* + >0 *|O % +
X # 0] #

X
A B C D

+ %0

E=

Options:
1. % 4
o ®E
3 % C
4 ¥ D

Question Number : 36 Question Id : 54592713368 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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* + %0 * O % +|* + %O
X |# O |# #x |#
A B i D
Options:
1. % 4
> &g
3 R C

4 ¥ D



Question Number : 37 Question Id : 54592713369 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

If a cube is painted red on all sides and if it is cut into 84 smaller cubes then how many such cubes will have
rmore tharn two sides painted red?

Options:
1. %8
Z w12
3.9 24
4. % 18

Question Number : 37 Question Id : 54592713369 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

It U O F1 THT TE O AT 7 H 7 AT 5 A AT 56 64 §1 Al H FRTAMT 8, 97 UH A v i s 31 9 i A
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Options:
1. %8
e %12
3. ¥ 24
4 % 18

Question Number : 38 Question Id : 54592713370 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following answer figure completes the pattern shown in the question figure?

?

N

D3

-

Options:




Question Number : 38 Question Id : 54592713370 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
1. % H
o

Question Number : 39 Question Id : 54592713371 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



& piece of paper is folded and punched as showr below in the question figures. From the given answer
figures, indicate how it will appear when opened.

Options:

1.9

Dég]pf
NN
) o P

Question Number : 39 Question Id : 54592713371 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
P
N
Oﬂ BN >

1.9
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Question Number : 40 Question Id : 54592713372 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What i3 the minirmum nurmber of straight lines required to draw the given figure?

Options:
1. % 13
o ¥ 14
3 %11
4 % 12

Question Number : 40 Question Id : 54592713372 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % 13

2 ¥ 14

3% 11

4 % 12

rereral Awarenessl

Group Number : 3

Group Id: 545927663

Group Maximum Duration : 0

Group Minimum Duration : 0

Revisit allowed for view? : No

Revisit allowed for edit?: No

Break time: 0

Group Marks: 20

Revisit allowed for group Instructions? : Yes

Maximum Instruction Time: 0

Minimum Instruction Time: 0

General Awarernessl

Section Id : 545927663
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20
Display Number Panel: Yes
Group All Questions: No

Sub-Section Number: 1
Sub-Section 1d: 545927795
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 54592713373 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



In which of the following dance forms, the dancers throw coconuts up in the air and break them open using
their head?

Options:

1. % 5iddi Dharnal
Z % Ehavai Dance
3. % Teratali

4 % Ghoormar

Question Number : 41 Question Id : 54592713373 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Tt # & fr gea § =efor gar #f i ther  ofte 3 e R T Ui ae wied
Options:

1. LT e

e A T
3. ® deEmEr

4. ® T

Question Number : 42 Question Id : 54592713374 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Deknni is a famous folk musicof __________
Options:

1. # Karnataka

2. % Gujarat

3. ¥ Goa

4 % Kerala

Question Number : 42 Question Id : 54592713374 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

k== T Hithg, oATeh S ol
Options:
1. ® mafew

2. B T
= o TEr
4. % gweT

Question Number : 43 Question Id : 54592713375 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The fourth day of the Ponigal festival is called

Options:
1. ®¥ Bhogi Porgal
= % Thai Pongal

3. # Maatu Pongal

4. ¥ Kaanum Pongal



Question Number : 43 Question Id : 54592713375 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

U g A R & _____________ TET AT &1
Options:

1. % it gime

Question Number : 44 Question Id : 54592713376 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which among the following temples was not built by Narasimha 117

Options:

1. # Shore Temple

Z % Kailashanatha Termnple

3. # Vaikuntha Perurmal Termple
4. ¥ Virupaksha Termple

Question Number : 44 Question Id : 54592713376 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TETmET # & BT Ol AT [T ZRT A8 s T 417
Options:

1. % FE AT (Aer )

2 % e At

3. ® A towe HiT

4 Taeuny Ay

Question Number : 45 Question Id : 54592713377 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

_____________ is the rate at which Eeserve Bank of India borrows funds from all the other cormumercial banlks in
the country.

Options:

1. ® Reporate

= % Reverse Repo rate
3. % Bankrate

4. % Liquidity rate

Question Number : 45 Question Id : 54592713377 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
_____________ g 27 & o e wwd T e e S | s wedt aniiieder det & o9 TUW a3

Options:

1. % ¥grer

o ¥ T ey
3 % dwar
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Question Number : 46 Question Id : 54592713378 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Econormic Survey of 2019 outlines the blueprint to achieve Prime Minister MNarendra Modi's vision of USD
trillion Economy.

Options:
1. % 4
2 V5
3% 3
4 % 10

Question Number : 46 Question Id : 54592713378 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
1. % 4
z W5
2% 8
4 % 10
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Question Number : 47 Question Id : 54592713379 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

As announced in the Budget 2019,
construction of more rural roads.

were allocated for Pradhan Marntri Gram Sadak Yojana for

Options:

1. % Rs. 10000 crore
2. % Rs 12000 crore
2. % Rs. 15000 crore
4 % Rs. 19000 crore

Question Number : 47 Question Id : 54592713379 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % 10000 T #07
2. % 12000 T w07
% % 15000 FWIE #0
4. ¥ 19000 T TT

Question Number : 48 Question Id : 54592713380 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
is used for measuring wind force.



Options:

1. ®¥ Hygrometer
= ¥ Anermometer
3. % Salinometer

4. % EBolometer

Question Number : 48 Question Id : 54592713380 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
___________ T JUIT &1 S1a 1 W10 o Tty e =1maT 21

Options:

1. % gEUHRET
o T
2. ® gheEiey
4 % FEMHRET

Question Number : 49 Question Id : 54592713381 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
__________ 15 chiefly found in Vinegar.

Options:

1. %® Lactic acid
= % Citric acid
3. % Malic acid

4 ¥ Acetic acid

Question Number : 49 Question Id : 54592713381 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
GIEIR: & & U7 AT gl

Options:

1. % FfFew and
o % AEiw awd
3. % Al gias
4  pERT s

Question Number : 50 Question Id : 54592713382 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which among the following is the second largest phylum?

Options:

1. % Chordata

= % Echinoderrmata
3. % Arthropoda

4. % Mollusca

Question Number : 50 Question Id : 54592713382 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % e

= ® z@mEdiEger

3. % giFue

4. ¥ AAEsT

Question Number : 51 Question Id : 54592713383 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Asexual reproduction in algae is by the production of different types of spores, the most cormrmon being the

Options:

1. % Qogarmous

2. # anisogarmous
2. ® isogarmous

4 ¥ zoospores

Question Number : 51 Question Id : 54592713383 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
et ® Sretie e el wep 3 sliopsrt & SouTee & §IaT 8 SOH | Held STH e _______ i

Options:

1. % Fima

2. % aEEdmEg
3. % amgadEe
4 e

Question Number : 52 Question Id : 54592713384 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which among the following 15 A rncT-reneyakle rescunce?

Options:

1. # geotherrmral
2 % wind

3. % biomass

4. % natural gas

Question Number : 52 Question Id : 54592713384 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TrafeET # & B9 A7 UF S wEre 57

Options:

1. % o-gnitar
= % =ar

3 % AT

4. yrgide T



Question Number : 53 Question Id : 54592713385 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
____________ worn the title of the ‘Cleanest Medium City' in the Swachh Survekshan Awards 2019,

Options:

1. % 1jjain

= % Mysore
3. % Kolkata
4. % Surat

Question Number : 53 Question Id : 54592713385 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
____________ T T4 [EET 2019 § Hae 61F AegW 957 B Eare S

Options:
1.9 3=

2 % Iy
3. ® miEmar

4 ® grg

Question Number : 54 Question Id : 54592713386 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wwhich among the following is not a water-borne disease?

Options:

1. % Polio
= % Malaria
3 ¥ AIDS

4. % Typhoid

Question Number : 54 Question Id : 54592713386 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T # & B A7 AT O Tl 87
Options:

1. % giferar

2 % g

3. v uEg

4 ® ygFTar

Question Number : 55 Question Id : 54592713387 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Rickets is caused due to the deficiency of _____________.
Options:

1. *® Witarmin E

= ¥ Vitarmin D

3 ® Vitarmin K



4. % Vitarmin B

Question Number : 55 Question Id : 54592713387 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
AT &1 FHT F FROT EIT B

Options:

1. % &= E
2. ¥ e D
3. % TR K
4 % A E

Question Number : 56 Question Id : 54592713388 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Kovna river rises near Mahableshwarinthe . ____.
Options:

1. # Eastern Ghats

2 ¥ Western Ghats

3. % Aravalli range

4. % Karalkoram range

Question Number : 56 Question Id : 54592713388 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TR O o BT ST T IS TR
Options:

1. % mEraw

2. giEmtae

2. ® aRTEw gdd it

4 % FRIFNA Tda S0

Question Number : 57 Question Id : 54592713389 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The lowest point of Indian Oceanis _______________
Options:

1. % Jawva Trench

2. % Mariana Trench

3. % Japan Trench

4. % Tonga Trench

Question Number : 57 Question Id : 54592713389 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T58 TR T Fedl TeraetT felg _______________ 2l

Options:

1. s =)
= % mriegET | @



% % M EE (=)
4. % i @

Question Number : 58 Question Id : 54592713390 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Amarkantak is the tallest peak of _______________.
Options:

1. # Himmalayan Range

2. % Karalkoram Range

2. % Purvanchal Range

4. ¥ Vindhva Range

Question Number : 58 Question Id : 54592713390 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TR ] Farel it ATl 2l

Options:

1. % BuwEgE
2 % FETERg

3. % gafga F
4 ¢ deg i

Question Number : 59 Question Id : 54592713391 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which soil is formed as a result of high leaching?

Options:

1. ® Black Soil
2. % Red Soil

2. % Alluvial Soil

4. Laterite 5Soil

Question Number : 59 Question Id : 54592713391 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % FEgT

= % e gar

3. % Qegferae gaT (i gD

4, ¥ GEET gar

Question Number : 60 Question Id : 54592713392 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
India has the largest international border in the world.

Options:
1. # fourth



2. % gecond
=% third
4. % fifth

Question Number : 60 Question Id : 54592713392 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
AT &l HAT T &7 __ e & Had 9T Aaere = |17 2]

Options:

1. % oty

o w Eﬁﬁ“

3 v

4 % gEd

Gerieral Avwarenesss

Group Number : 4

Group Id: 545927664

Group Maximum Duration : 0

Group Minimum Duration : 0

Revisit allowed for view? : No

Revisit allowed for edit? : No

Break time: 0

Group Marks: 20

Revisit allowed for group Instructions? : Yes

Maximum Instruction Time: 0

Minimum Instruction Time: 0

General Awareresss

Section Id : 545927664
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20
Display Number Panel: Yes
Group All Questions: No

Sub-Section Number: 1
Sub-Section Id: 545927796
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 54592713393 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The zaid is the Criop Sea5011.

Options:



1. * winter
2. ® guturrm
3. ¥ summer
4. % spring

Question Number : 61 Question Id : 54592713393 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
W THEA T iAW 21

Options:
1. % maf
2. % uqge
3. o it
4 % FET

Question Number : 62 Question Id : 54592713394 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Who ameng the following 15 not an Extrerist leader?

Options:

1. ® Lala Lajpat Eai

= % Bal Gangadhar Tilak
3. % Ayrobindo Ghosh

4. % Gopal Krishna Gokhale

Question Number : 62 Question Id : 54592713394 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
FamET § & & aedueft 99T a5t 87
Options:

1. % FTAT A= T

2. ® o1 TR e

3. % srfdwg oW

4, & TITTA FW g

Question Number : 63 Question Id : 54592713395 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
o 22rd March, 1921 Ehagat Singh, Eajguru and Sukhdey were hanged to death with

Options:
1. Jallianwmala Bagh Massacre

= % Kakori Train Dacoity
3. ¥ Lahore Conspiracy Case
4. % Dandi March

Question Number : 63 Question Id : 54592713395 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
23 AR, 1931 @ 9 T6E, T o ga@od &

o OTHe § WTET UT Ao T2 T £m



Options:

1. ¥ FEAATAT 91T geaTwis
2. % NI ST

3. ¥ AN 9SO &

4. ® ZETAE

Question Number : 64 Question Id : 54592713396 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which veda is a collection of sacrificial formulas?

Options:

1. % Atharvaveda
2. % Samaveda
2. % Rigveda

4. ¥ Yajurveda

Question Number : 64 Question Id : 54592713396 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
I AT oI I Trawei AT T aE 8
Options:

1. ® aprEdy

> R gmee

3 % mrg

4. ¥ T

Question Number : 65 Question Id : 54592713397 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Who was the revenue minister of Sher Shah Suri?

Options:

1. ® Faizi

2. ¥ Todar Mal
3. ® Tansen

4 ® abal Fazi

Question Number : 65 Question Id : 54592713397 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
I &g GO 3 e HAT I 47

Options:
1. % BT

= W TiEead
. ¥ gree
4 % e G

Question Number : 66 Question Id : 54592713398 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Wwho built Ibadat Khana (Hall of Prayer) at Fatehpur Sikri?
Options:

1. % Akbar

2 % Hurmayun

2. % Babur

4. % Jahangir

Question Number : 66 Question Id : 54592713398 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A Rq H1eR] H Talad ST (WY 1 gl e ST a7
Options:

1. ¥ arhew

2 * g

2% ey

4, ® FEiK

Question Number : 67 Question Id : 54592713399 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wwho established Zanjir-e-Adal at Agra Fort for the seeker of roval justice?

Options:

1. % Akbar

2 % Hurmayun
2. % Babur

4. ¥ Jahangir

Question Number : 67 Question Id : 54592713399 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

ATl 2T o AT o To0 STTRT fofet | S -T— 318 &1 ST (e 317
Options:

1. % arhew

2 * g

2% ey

4. ¥ FEIT

Question Number : 68 Question Id : 54592713400 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Who wrote 'The Glass Palace"?

Options:

1. % Vikrarn Seth
= ¥ Amitav Ghosh
3. % Anita Desai

4. % Thurmpa Lahiri

Question Number : 68 Question Id : 54592713400 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
'Z TAT et e ferar 27

Options:

1. % v #s
2 arffdTa Oy
3 % artaTTEs

4 % ZIOT AR

Question Number : 69 Question Id : 54592713401 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wwhich among the following books is not written by Salman Rushdie?

Options:

1. # Midnight's Children
Z % Shame

3. # Fury

4. ¥ Broken Republic

Question Number : 69 Question Id : 54592713401 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TorgTerTa qeart 3 & i a1 e Her Beky e Y et 1 27
Options:

1. ® fizamEed Kegd

2 % gm

3 % o

4 g e

Question Number : 70 Question Id : 54592713402 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
She founded the Missionaries of Charity and Nirmal Hriday a home for the dving destitutes. Who was she?

Options:

1. % Mother Teresa
= % Sister Nivedita
2. ® Indira Gandhi

4 % Annie Besant

Question Number : 70 Question Id : 54592713402 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Frpl T STE AT o Ter gor o s & = Ae oot TeTat o ol uw oY 8 1 9 i ot

Options:

1. mex dT

2 % =T gt
3. ® glear et

4 % HETEET



Question Number : 71 Question Id : 54592713403 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which among the following organisations does not have it's headquarters in New York?

Options:

1. % United Nations Crganisation

2. % Tnited Mations Childrens' Fund
3. % United MNations Population Fund

4.9 United MNations Educational Scientific and Cultural T garisaticn

Question Number : 71 Question Id : 54592713403 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TrafeiaT dmadt # & faree qearer ~gaqTd § 9281 87
Options:

1. % HgF g da

2 % 9w g O

3. % Ogm O SEEd Y

4 ggm T Agw, ST U Gregiad aiad

Question Number : 72 Question Id : 54592713404 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Vilram Sarabhal Space Centre, an institution managed by [ndian Space Research Organisation, is located at

Options:

1. % Ahmedabad
2. % Benigaluru
3. % Gujarat

4. % Thiravananthapurarnm

Question Number : 72 Question Id : 54592713404 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

ToIeR |RTATS ST th, W 127 I 108 SIgEeT HIa- T Welled e e,
Options:

1. % sEHgER

2 % AT

3. % TR

4 Teadaqed

Question Number : 73 Question Id : 54592713405 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wwho was the first hockey player to be awarded the Rajiv Gandhi Khel Award?

Options:

1. % Dhanraj Pillay
2. * Sardar Singh
Z. % Manpreet Singh



4. % Dhyan Chand

Question Number : 73 Question Id : 54592713405 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Tt TITEfT W QR & FTT 1 ool Ugel Bl (el ®i- 47
Options:

1. ¥ ooy et

o % mer ¥

Z. % madiT My

4 ® e

Question Number : 74 Question Id : 54592713406 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which chapter of Part ¥VII deals with the languages of Union?

Options:
1.9

2 %11
3. %I
4. 1y

Question Number : 74 Question Id : 54592713406 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
AT KV T T T ST 0 &7 AT & HaieT 87

Options:
1.9 ]

2 %1
3. % 11
4 1y

Question Number : 75 Question Id : 54592713407 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wwhich part of the Indian Constitution deals with the co-operative societies?

Options:

1. # Part VIII
2. % Part [X-E
3. % Part EII
4. % Part VI

Question Number : 75 Question Id : 54592713407 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

AT 1 W T F 1 6T AT G5l At al & areg g7
Options:

1. % 9T vIIl

2 ¥ qmiE-B



3. % 9T Il
4. % 9TVl

Question Number : 76 Question Id : 54592713408 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which among the following parts of Indian Constitution deals with the Union and its territories?

Options:

1. % Partll

2. % Part [X-E
3. ¥ Part |

4. % Part VIII

Question Number : 76 Question Id : 54592713408 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

WTC 1 Fiere o e st # & @i o1 |99 & 39 491 O getig 37
Options:

1. % 9mrll

2. ® qmix-E

3. ¥ Al

4. ® qur VIII

Question Number : 77 Question Id : 54592713409 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wwhich amendment added Sindhi a5 a language in the 3th schedule?

Options:
1. % 14
2. ¥ 21
3% 2B
4. % 44

Question Number : 77 Question Id : 54592713409 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

o Wi e o et oY o e 37w A 8 o st f e 7
Options:

1. % 14

e ¥ 21

3% 28

4 % 44

Question Number : 78 Question Id : 54592713410 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
= & A AATE WAt & BT & g A7 et o 2 g SEEe A

Options:

1. % ez



= % g
= ¥ g
4. ¥ TYH T2 A

Question Number : 78 Question Id : 54592713410 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
___________ has hosted the Olympic games & tirmnes which is highest by any country.
Options:

1. % England

= # Greece

2. ® France

4 % United States of America

Question Number : 79 Question Id : 54592713411 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The 215t Corrmnorwealth games was organised by

Options:
1. # Canada

2. % Australia
z. ¥ Italy
4 % India

Question Number : 79 Question Id : 54592713411 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
21 o TEHEH Wa! B A=

Options:

1. % weET

2 st
2 ® ol

4 % T

Question Number : 80 Question Id : 54592713412 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The lowest tearn score in the World Cup 2019 was scored by

Options:
1. % Pakistan

2. % afghanistan
3. % Bangladesh
4. % England

Question Number : 80 Question Id : 54592713412 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Tra#7 2019 # Gad &H 217 T FGEIE RIE

Options:



1. ¥ urfiea

2. % arpIRETT

3. % AT

4 % gz

Arithrmetic Ability1

Group Number : 5

Group Id: 545027665

Group Maximum Duration : 0

Group Minimum Duration : 0

Revisit allowed for view? : No

Revisit allowed for edit? : No

Break time: 0

Group Marks: 20

Revisit allowed for group Instructions? : Yes

Maximum Instruction Time: 0

Minimum Instruction Time: 0

Arithrnetic Abilitvl

Section Id : 545927665
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20
Display Number Pane: Yes
Group All Questions: No

Sub-Section Number: 1
Sub-Section Id: 545927797
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 54592713413 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Findthevalueof 1 < {1 - @+ 1/bjjifa=1/2andb =27
Options:

1. % -2

2 % -1

3.9 1

4 & 2

Question Number : 81 Question Id : 54592713413 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
1+4{1+@E+ 10} FTHraaEd @, Aiga = 12 b = 27 71



Options:
1. % -2
Z w1
3.¥ 1
4 % 2

Question Number : 82 Question Id : 54592713414 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the HCF of 1256 and 11536,

Options:

1. % 1/25&6
2 % 1/512
3. % 1j128
4 ¥ 1[15326

Question Number : 82 Question Id : 54592713414 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
1/256 3% 11536 T Agay THIHd & A1 Fe

Options:

Question Number : 83 Question Id : 54592713415 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following nurnbers is divisible by 87

Options:

1. % 7538219364
2 ¥ E342748392
3. #® 7354826348
4 # 7345283492

Question Number : 83 Question Id : 54592713415 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
o f § F-d s 8 G e i

Options:
1. ¥ 7538219364

2. ¥ B342748392
3. ¥ 7354826348
4. % 7345283492

Question Number : 84 Question Id : 54592713416 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Simplify:
7 x 136 -5+ 131)) (B28 + 32 - 4625 =7

Options:

1. % 20323
2. % 2467
3. % 2833

4. ¥ 16.67

Question Number : 84 Question Id : 54592713416 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T T
(7 %136 + 84+ 1311/ (E28 - 32 -4 625) =7

Options:

1. % 2033
= % 2467
3. % 2633
4 ¥ 1667

Question Number : 85 Question Id : 54592713417 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the value of:

L2441+ (5581 = 7
Options:
1. % 1
o ¥ 2
3. ¥z
4 % 4

Question Number : 85 Question Id : 54592713417 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
el 1T &

V2 41+ (558100 = 7
Options:
1. %1
2 ¥z
3. ¥ 3
4 % 4

Question Number : 86 Question Id : 54592713418 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Convert 654 to Binary?

Options:
1.9 1010001110

2. % 1010100101



3% 1110001011
4 % 1111100010

Question Number : 86 Question Id : 54592713418 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
654 T AEC | Fge

Options:

1.9 1010001110

Z % 1010100101

3. % 1110001011

4, % 1111100010

Question Number : 87 Question Id : 54592713419 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Ifx =005 and vy = 0.03, find the value of (x + v)/(Exv)?

Options:

1. % 35
2 % 95
3. % 575
4 ¥ §25

Question Number : 87 Question Id : 54592713419 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

qfE x = 0.06 3y = 0.03 T (x + v)/ (Sxy) T e d T 7
Options:

1. ¥ 85

Z. % a5

3. ® 575

4. ¥ 6.25

Question Number : 88 Question Id : 54592713420 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wwhat is the value of: (121 4+ 262 x 141 + 141) + (121 + 141)7

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for al
candidates.

Options:

1272

2 141

3 131

4. 10

Question Number : 88 Question Id : 54592713420 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
(121 + 262 x 141 + 141) = (131 + 141), BT HFT ER]T%?



Note: For this question, discrepancy isfound in question/answer. So,this question isignored for al
candidates.

Options:

1272

2 141

3 131

4. 10

Question Number : 89 Question Id : 54592713421 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Convert 273 0 binary.

Options:

1. % 100010001
Z % 011111010
3% 110111010
4. % 010000110

Question Number : 89 Question Id : 54592713421 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
273 W A | Fge

Options:

1.9 100010001

2 % 011111010

3% 110111010

4. % 010000110

Question Number : 90 Question Id : 54592713422 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the LCMof 17221 and 1/&677

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all
candidates.

Options:

1.1/15477

2 1[46977

3 1720131

4 1/67117

Question Number : 90 Question Id : 54592713422 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
1§231 & 1 {67 & deay auiad: =1d &

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for al
candidates.

Options:

1. 115477

2 1[468977

3. 1120121



4 1je7117

Question Number : 91 Question Id : 54592713423 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Ehola sells flowers at Rs. 50 per kg, If he buys 20 kg flowers and his wastage is 10 percent, what profit
percent does he earn if his cost price is Rs. 6007

Options:

1. % B0 percent
2. ¥ 50 percent
2. % 40 percent

4. % 30 percent

Question Number : 91 Question Id : 54592713423 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TAT 50 T Ui Tore] Tl =T 51 Fie a5 20 kg B FiadT & dT 399 10 AT F0e ed AT 5, Aie S99 ard 7g 600
m%ﬁaﬁﬁﬂﬁﬁ?ﬁww e e

Options:

1. % g0 nidem
2. ¥ S0 e
3. ® 40 UidaT
4. % 30 uideT

Question Number : 92 Question Id : 54592713424 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wwhat is the cost of a drurm if the selling price is Bs. 5,000 and profit is 10 percent?

Options:

1. ¥ Rs. 4545 45
2. % Rs. 4250

2. % Rs. 4500

4. ® Hs. 4750.45

Question Number : 92 Question Id : 54592713424 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
e U T T ekl Grd 5,000 T 3T AT 10 TS & a7 JHE ad de Ted a1 57

Options:

1. ¥ 4545 45 77
2. % 4250 T

2. % 4500 F7

4. % 4750 45 w7

Question Number : 93 Question Id : 54592713425 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Calculate the average perimeter of an equilateral triangle, square and circle having same side [radius as x?
Options:

1. % 4mx



o w4 45y
3% dxy
4 % 4 43mx

Question Number : 93 Question Id : 54592713425 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T ATy T, =7 S T o ofta TICHT <k 0T e At 3 ek W5 | AT gee g S e k2 87
Options:

1. % dmx

2 ¥ 443

3% 4y

4. % 4 4%mx

Question Number : 94 Question Id : 54592713426 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

If a tank is filled with 12 water and 1[4 oil. what is the percentage of water against the remaining unfilled
space of the tank?

Options:

1. % 200 percent
2. % 150 percent
2. % 100 percernt

4. % 7L percent

Question Number : 94 Question Id : 54592713426 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

AT o TeT 12 T &1 1[4 ot & 9T 51 o1 § <A1 ol B8 el A7 § JEo TelTel o U1 BT Hia 9 T 57
Options:

1. ¥ 200 uidsT

2 ® 150 uida

Z. % 100 AidaT

4 # 75 uigaT

Question Number : 95 Question Id : 54592713427 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
& man sells 8 televisions at a profit of 20 percent and 4 at a profit of 5 percent. Find his net profit percentage?

Options:

1. % 15 percent
2. % 12 percent
2. % g percent

4, % g percent

Question Number : 95 Question Id : 54592713427 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
e TN & TRl ®1 20 Wided & @1 0 T 4 @1 5 Uidad & @1 U7 ST 21 JH%T I A Hid 9T A @17



Options:

1.9 15 ufdeT
2. % 12 uide
3 % onidaT
4. % gudaT

Question Number : 96 Question Id : 54592713428 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

¥ sells 50 percent of his products at 50 percent profit, 30 percent at 40 percent profit and 20 percent at 30
percent profit, what is his net profit (round off to a whole nurmber)?

Options:

1. ¥ 43 percent
2. ® 32 percent
2. % 328 percent

4. % 40 percent

Question Number : 96 Question Id : 54592713428 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
K & 50 uided Jeutgl @1 S50 Wi &t O s=9491 5, 30 W9 @1 40 Widad @9 0 &K 20 nided &1 30 T @ o s=a1
5, T g W (Thod A qUTie & &0 H) F47 57

Options:

1. ¢ 43 ufdeT
2. % 32 ude
3. % 38 uideT
4. % 40 nidaT

Question Number : 97 Question Id : 54592713429 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Garesh bought an iPhone for Rs. 54,500, The next day he sold it for Rs. 49,595, What is his loss percent?

Options:

1. % 7.5 percent
= ¥ 9 percent

3. % 105 percent
4. # 12 percent

Question Number : 97 Question Id : 54592713429 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TS = 54,500 P00 § Teh SIS0 ELan ST 1S 38 56 49,595 00 # o TS0 JE®T Johar &1 Wid o 7 37

Options:

1. % 75 uidee
2. ¥ anidaT

3 % 105 uided
4. % 12 uida



Question Number : 98 Question Id : 54592713430 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Ev selling 27 candles, the seller makes a loss equal to the selling price of 3 candles. What is his 10ss percent?

Options:

1. % B percent
2. ¥ 10 percent
3. % 12 percent

4. # 14 percent

Question Number : 98 Question Id : 54592713430 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
27 WG] sy, Teshd T 3 AT il Taleh ! Jrd & sSTa JodT= w51 SHET T Wi 9 #7157

Options:

1. % g
2. ¥ 10 nideT
3 % 12 uidea
4. % 14 nideT

Question Number : 99 Question Id : 54592713431 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
An itern marked at Ks 100 is sold after three successive discounts of 10 percent, what is the selling price?

Options:

1. % Rs. 70

2 ¥ Rz 7290
3. % Rs. 7260
4 % Rs 81

Question Number : 99 Question Id : 54592713431 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
100 797 W g U aeq #7110 Hidad &1 19 FThw g & o1g o= a1 31 36 fHed geg Fa7 37

Options:

1. % 70¥q07

=z W 7290wy
3. % 736007
4. % 3197

Question Number : 100 Question Id : 54592713432 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
If& BE=9:8andEB: C =65, then find theratioof C: B : A,

Options:

1. % 27 24:20
2 ¥ 202427
3% 24:20:27
4 % 242720



Question Number : 100 Question Id : 54592713432 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

AT s - B=9:83NE: C=6:58 d1C:B: A T FUT I F
Options:

1. % 27.24: 20

= W 202427

I% 24020027

4 % 242720

Arithumetic Ability2

Group Number : 6
Group Id: 545927666
Group Maximum Duration : 0
Group Minimum Duration : 0
Revisit allowed for view? : No
Revisit allowed for edit?: No
Break time: 0
Group Marks: 20
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0
Arithrmetic Ability2
Section Id : 545927666
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 545027798
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 54592713433 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

If (e+vdi(e-v) = 9.1, then dx : 3y =7
Options:

1. % 3.4

2% 4.9

3. 953



4 % 3:5

Question Number : 101 Question Id : 54592713433 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A Ge+y)fe-v) = 918 T dr: 3y =7
Options:

1. % 3:4

2. % 4.9

3.¥ 53

4 % 3.5

Question Number : 102 Question 1d : 54592713434 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
If 4, v, v, 100 are in proportion, then find the value of ¥7?

Options:
1. % 10
2. % 15
3. ¥ 20
4 % 25

Question Number : 102 Question Id : 54592713434 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

afE 4, v, v, 100 eUT # &, Iy &1 G5 A1 F)
Options:

1. % 10

2 % 15

3. ¥ 20

4 % 25

Question Number : 103 Question 1d : 54592713435 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Alpha and Gama invested Rs. 20000 each for 2.5 years at sirnple interest. Alpha received Es. 1500 more than
Garma. What is the difference in simple Interest earned by the two?

Options:

1. % 3 percent
2. % 4 percent
2. % 2 percent

4, % 250 percent

Question Number : 103 Question Id : 54592713435 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

STFRT & AT 2T 20000 F07 AT 2407 0 2.5 Tt & 190 Tear Erem Se®T &1 AT S 1500 #uy e e et gw
7T ETEN =201 2% H 47 397 57

Options:



1.9 3 e
2 % 4 e
3 % 2udaT
4, % 350 UidaT

Question Number : 104 Question Id : 54592713436 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Mohan borrowed an amount of Rs. 10000 at a simple interest of 8 percent for © years. He repaid the entire
amournt at the end of the 4th year and paid a penalty of Rs. 100, What is the total amount paid by Mohan at
the end of the 4th year?

Options:

1. % Rs 13100
2. % Rs 13200
2. % Rs 12000

4. % Rs. 13300

Question Number : 104 Question Id : 54592713436 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Higd = 10000 F0 & T S HI & W00 8 Fided & AT s 0 THW ol S0 e gy & o o qir a0 geeT of o 100
T T AT 7T Tepem =it a & of o Hig GRT I @1 TS P A1 74T 87

Options:

1. % 13100 70
2. % 13200 w0
2% 13000 FTO0

4 % 13300 &7

Question Number : 105 Question Id : 54592713437 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Mr. ¥ invested 12 of his investment at & percent p.a., 20 percent of his investrment at 10 percent p.a. and
balance at 8 percent p.a. At the end of the vear, he received interest of Rs. 740, What is the total investment
rade by Mr. X7

Options:

1. % Rs 10000
2. % Rs 12000
2. % Rs 2000
4 % Rs 15000

Question Number : 105 Question Id : 54592713437 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

AT X+ ST e T 142, 6 Hidard Wi e oy, s e @ 20 idad, 10 Hided wid e & 5 0t #f% sl g e ® Ol 8
e wid w ox e Tem w o afd # 39 740 T s e AT ¥ gRT o ma g T e a7

Options:
1. % 10000 #q7
2. % 12000 =7

2% B000 7T



4, % 15000 #Oq7

Question Number : 106 Question Id : 54592713438 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A& runner completes a 400 m track by running 100 m at a speed of 10 m/s and the remaining 200 mat 15
)5, Find the total tirmne requirad?

Options:

1. % 15 51 unit
2. % 20 51 unit
2. ¥ 20 51 unit

4. % 45 51 unit

Question Number : 106 Question Id : 54592713438 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
e e 10 1m1fs & i & 100 m 37 39 200 rmy, 15 mfs & T @ SI2% 400 1o 5% YR H0dT 21 Foel STITee®: T A1 Hiee

Options:

1. % 15 51 unit
2. % 20 51 unit
2. % 20 51 unit

4. % 45 51 unit

Question Number : 107 Question Id : 54592713439 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
& train having a length of 150 m Ccrosses a polein 10 sec. Find its speed in kn/h?

Options:

1. % 48 km/h
2 ¥ E4lanfh
2. % B0 km/h
4. % 6 km/h

Question Number : 107 Question 1d : 54592713439 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
150 1 & daTe ard femar 10 Hes # 0% Ul &1 O% Fa 5 kinjh & S i a0 @77

Options:

1. % 48 km/h
Z ¥ 54 lanfh
2. % B0 km/h
4. % 56 km/h

Question Number : 108 Question Id : 54592713440 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

& train having a length of 200 m crosses a bridge of length 200 min 20 seconds. Find its speed in km/h?
Options:

1. % ZE km/h



2. % 48 km/h
3 % 60km/h
4. % 72 kmfh

Question Number : 108 Question Id : 54592713440 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
200 1 F AeE JTeT [T 20 T H 200 1 W AeTe & Y B U7 BT 81 S6e! i kb § 3Ja @7

Options:

1. # 26 km/h
2. % 48 km/h
2. % 50 km/h
4 ¥ 72 lan/h

Question Number : 109 Question 1d : 54592713441 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

At a surmmer camp, provision of supplies for 50 students were done for 6 days. If 25 students left the camp
after 2 days, how many days extra can the remaining students spend with the supplies?

Options:

1. ¥ 3days
2. % 4days
2. % Ldays
4. % & days

Question Number : 109 Question Id : 54592713441 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T TSHETeN T 19re 8 SO 5731 & 167 6 Tt @ oy 90T &7 ogid 7 wiaer forem = om aie 25 &t = 3 Tt @ arg i)
Fig faam, 31 3 o1 a=it 58 oyl T Rrae Ta arfafen v v aw #r

Options:

1. zR=a
o % 4fq
z ® oA
4 % gfA

Question Number : 110 Question Id : 54592713442 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

& can complete a task in & days. B can complete the task in 6 days. If 4 alone completes 172 of the task and
leawves, then how muach time will B tale to cormplete the task’?

Options:

1. % 2 days
2. % ddays
3. % SBdays
4 % g days

Question Number : 110 Question Id : 54592713442 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
A % FE BT S T H T W GFqT 81 B T @1 6 TEAt o @ o a@aT g i A Sl wTH T 1/ 2 [ 9dT ¢ MR ig dar e, af
E @1 &0 [T - | fepaar aua @

Options:

1. v 3f=a
o % 4T
3 % 5fm
4 ® g

Question Number : 111 Question Id : 54592713443 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

2 kids throw 10 balls a minute into a basket with a capacity of 500 balls. If each kid rests for & mins after
every 10 mins, how much time will it take to fill the basket?

Options:

1. % 20 mins
= % 70 rmins
3% 75 mins

4. % 45 mins

Question Number : 111 Question Id : 54592713443 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

% w2 500 Tl 9 gmaTEer uw s # 10 Tl o uw e o g 31 oS nedd ey Wodw 10 e #F &g 5 iHe 9@ awm
Tl 5, A7 L B A H g aT TR @

Options:
1. % 30 e

= ¥ 70 AT
z % 7S iEae
4 ® 45 BT

Question Number : 112 Question Id : 54592713444 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

If 2 cubes of side, 2 cm each are stacked and then cut vetically in 12 and 2/ 2 parts, find the difference in the
surface areas of the larger and the smaller part?

Options:

1.9 16 3 crn®

2. % 450 cm?®

3% 650 cm®

4 % 5sq cm®

Question Number : 112 Question Id : 54592713444 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

%1%2 c%mﬁs T T T AT AT 5 S 0T 12 & 202 A # GeT T A|T 8, 91 92 oW g1 5ed & 995 F a7
AT T

Options:
1.9 16 3 crn®



2. % 43q cm®

3. % Es5q cm®

4. % Bsq cm®

Question Number : 113 Question Id : 54592713445 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

If the radius of the hollow part of the coconut is 2(3 times radius of the total coconut (consider sphere), find
the fraction of the hollow volume?

Options:

1. % 19]27
= ¥ BI27
3% 113
4 % 23

Question Number : 113 Question 1d : 54592713445 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
e AT o FhEet 9T & 3T ol ATad | 2 3 A1 7 (et 07 e ), a1 Fiaelt AT &7 &30 () 19 37

Options:

1. % 19727
2. ¥ 3|27
=% 13
4 % 213

Question Number : 114 Question Id : 54592713446 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Howr miany thermocol spheres with radius 0.2 ¢m can be made froma precursor pellet sphere of 2 cm radius?

Options:

1. ¥ 1000
2. % 2000
2% 2000
4. % 4000

Question Number : 114 Question 1d : 54592713446 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T 0.2 crn o |1 foa SR is et 2 crr T STelt SIge TTe &7 o o1 =1 gord 7

Options:
1.9 1000

2. % 2000
3% 2000
4. % 4000

Question Number : 115 Question Id : 54592713447 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



The pie chart shows the various contributors to the revenue of a firm for the year 2018, The projections for
2019 were in the same proportion but with an increase of 20 percent overall. If scaps accounted for §15
million of revenue in 2018, then how much will soaps and foods account for in 20197

Contributors to the revenue of a firm for the year 2018

Options:
1. % 336 8 million

= # %35 8 million
2 ® 237 2 million
4 % $37 8 million

Question Number : 115 Question Id : 54592713447 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

U ATE a4 2018 & AT uw W & Tered o TR aime g et w T gaiar 81 2019 & W e e g Heme) 20 T ad
T Pl oF AT U B 0T H @M i 2018 o T @71 T=ed § 15 Wieaa o, a7 2019 § @rer ugre K 95 & Ted @7

Tewa g g
¥ 2018 ¥ fAC oF o F TAET H FrrgEEar

Options:
1. ® 336 8 o
2 % 135 5w

3. ® 337 2 WEE



4 % $37 5 e

Question Number : 116 Question Id : 54592713448 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The pie chart shows the proportions of spending by the government on their different plans. By how much is
the amount spent on Flan F more than the amount spent on Flan D and E combined?

Proportions of spending by the Government

Options:

1. %05

2 % 06667
3. % 075
4 1

Question Number : 116 Question Id : 54592713448 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

UTE 2TE el Tl 0T 90 &R @ o SIUTd 1 Said T g1 W D S E OF @ &1 T8 190 @1 o1 © ted F oF et
S7TEre TIT4T ) &1 TS 27

FIHR ZART @Y F A9

Options:



1. %05
> % 0 EEET

3 % 07s
4 ¥ 1

Question Number : 117 Question Id : 54592713449 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The table shows the inflow and outflow of water in 4 different tanks of the same size and capacity in &
different weeks. For which of the following tanks the ratio of increase in the amount of water in the tank from
weel 1 1o weel 5 was rraximanTy

Tank 1 Tank 2 Tank 3 Tank 4
Inflow | Outflow | Inflow | Outflow | Inflow [Outflow| Inflow | Outflow

Weekl | &4 0 1] 0 L] 0 ] 0
Week2 | %6 2 64 3 4 18 43 u
Week3 | 58 36 68 i 56 & 52 16
Weekd | &2 18 52 26 58 44 % i
Week$ | 68 LY 78 Q 10 0 b 18

Options:

1. % Tank 1

2 % Tank 2

2. % Tank 3

4. % Tank 4

Question Number : 117 Question 1d : 54592713449 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TTIGIERT 5 SIFT-STAT §Fa 1 H UaF 57 ST 2 §ATT o 4 SIeAT-316T 2ol H UTHT 9= 3 Wty &1 Wt g1+ o WaTg @ 4aiar )
T o e T oy L &5 a9 9 st § o S 7T H gy #T SuTd sty ar7

o tan (F ol
yare (ot (ot (et oty [afdifae |oee |afie
Wag1| 48 0 2 0 40 0 %6 0
Wa®2| 5 2 64 2 48 38 48 2
Waws| 8 3% 68 28 5% 40 52 16
Wa®d| 62 18 52 2% 58 2 50 2
WAES| 68 Q2 7% & 70 20 & 18
Options:
1. % gl

o W TH 2



3. % T2
4. ¥ T 4

Question Number : 118 Question Id : 54592713450 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The line chart shows the profit earned by two companies over a period of time. For which vear is the difference
between the profits earned the maximum betweer the two Companies?

2500

1500

1000

2012 2013 2014 2015 2016 2017 2018

Profit earned by two companies

Year

Options:
1. % 2012

= % 2013
= ¥ 2014
4 ® 2018

Question Number : 118 Question Id : 54592713450 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
ATEA =TE TRT-TAT 0T 21 T GWT SFd AT ®1 Za7ar 71 Tore o 2=t Fut=t = A7 @rd Sifeg [T & 39 o i 97 297 Tad

el A L= §Y

2500
%
E 1500

1000
E SO0
o .

2012 2013 2014 2015 016 2017 J01E

Options:



1. % 2012
= % 2013
3 v 2014
4, % 2018

Question Number : 119 Question Id : 54592713451 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The following bar graph shows the cumulative frequency of the total number of men participating in a theatre
over a period of 4 years. In which vear the increase in the number of men was maxinum?

100
g 100
2 % -
° =
g »
0 55
£ s
w
E 40 35
2
O o | NN
1 2 3 [ ] 5
Year
Options:
1.¥ 2
2 % 3
3. % 4
4 % 5

Question Number : 119 Question Id : 54592713451 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



TRTeIFET & T 4 |16 &1 Srater H U FTey | W o ol GouT & gel S i St sTeie w1 gatar g1 o af § qeut &t
T | Thy, Srfermrad &7

100
£
55
15
=1
2 1 4 5

1

qoEt B Hr sEfed
E¥838838s8

EL ]

Options:
1.2
o % 3
3 % 4
4 % g

Question Number : 120 Question Id : 54592713452 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The line chart shows the annual grain production over a period of time. For which vear 15 the percentage
decrease in production from the previous year the highest?

Annual grain production (in kg)
c385288588E

012 01} 214 201% 201& 017

Year

Options:
1. % 2013

= % 2014
= ® 2015
4 ¥ 2016



Question Number : 120 Question Id : 54592713452 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TS =18 ek G0 ST H AT S Jo0Ta @1 gaidT o) et a9 & gomT # o a4 Jedie- o 0id I w01 Seel ST 87

o 180
E 160
~ 140 :
120 / "
E 100 / .
80 / A
gl
40
20
£ %
2012 2013 2014 2015 2016 2017
g
Options:
1. % 2013
2 % 2014
3 % 2015
4 ¥ 2016
rereral Englishl
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Group Minimum Duration : 0
Revisit allowed for view? : No
Revisit allowed for edit?: No
Break time: 0
Group Marks: 20
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0
General Englishl
Section Id : 545027667
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Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20
Display Number Panel: Yes
Group All Questions: No

Sub-Section Number: 1



Sub-Section Id: 545927799
Question Shuffling Allowed : Yes

Question Number : 121 Question Id : 54592713453 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the
sentence has no error, select the option ™o Error'

Marnohar drived the car | all the way to [ the famous hillstation.
Options:

1. % Manohar drived the car

2. % all the way to

2. % the famous hillstation.

4. % Mo Error

Question Number : 121 Question Id : 54592713453 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the
seriterice has no error, select the option ™o Error'.

Marnohar drived the car | all the way to [ the famous hillstation.
Options:

1. % Manohar drived the car

2. % all the way to

2. % the farmous hillstation.

4. % Mo Error

Question Number : 122 Question Id : 54592713454 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The senterice below has been divided into three parts. Select the part of the sentence that has an error. If the
sentence has no error, select the option Mo Error'

Maria danced and sang | as she was very happy | with her results,
Options:

1. ® Maria danced and sang

2. % as she was very happy

3. % with her results.

4. % Mo Error

Question Number : 122 Question Id : 54592713454 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the
seriterice has no error, select the option Mo Error',

Maria danced and sang | as she was very happy | with her results.
Options:
1. % Maria danced and sang

2. % asshe was very happy



2. % with her results.
4 % Mo Error

Question Number : 123 Question 1d : 54592713455 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The sentenice below has been divided into three parts. Select the part of the sentence that has an error. If the
sertence has no error, select the option Mo Error'

Mahesh falled into bad company [ as his parents didn't | pay attention to him.
Options:

1. % Mahesh falled into bad company

2. * as his parents didn't

2. % pay attention to him

4. % Mo Error

Question Number : 123 Question Id : 54592713455 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the
sentence has no error, select the option ™o Error'

Mahesh falled into bad comparny [ as his parents didn't | pay attention to him.
Options:

1. % Mahesh falled into bad company

2. % as his parents didn't

2. % pay attention to him.

4. % Mo Error

Question Number : 124 Question Id : 54592713456 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The senterice below has been divided into three parts. Select the part of the sentence that has an error. If the
sentence has no error, select the option ™o Error'.

Eihari Lal went | from the village [ to town on feets.
Options:

1. * Eihari Lal went

2. % from the village

3. ¥ to town on feets.

4. % Mo Error

Question Number : 124 Question Id : 54592713456 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The senterice below has been divided into three parts. Select the part of the sentence that has an error. If the
sentence has no error, select the option Mo Error'

Eihari Lal went | from the village [ to town on feets.
Options:
1. % Eihari Lal went



2. ® from the village
3 % to town on feets,
4. % Mo Error

Question Number : 125 Question Id : 54592713457 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the
sentence has no error, select the option ™o Error'

IMNeha can swimas fast | on the sea [ as she Can in a swirrring pool.

Options:
1. E
Meha can swim as fast

2 % on the seq
2. # as she can in a swirnrming pool.

4. % Mo Error

Question Number : 125 Question Id : 54592713457 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The sentenice below has been divided into three parts. Select the part of the sentence that has an error. If the
sertence has no error, select the option Mo Error'

MNeha can swirm as fast | on the sea [ as she can in a swirnming pool.

Options:
1. =
Meha can swim as fast

2. ¥ on the sea
2. % asshe can in a swirming pool.
4. % Mo Error

Question Number : 126 Question Id : 54592713458 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
select the word segrment that substitutes (replaces) the braketed word segment correctly and complates the
Sentence meaningfully. salect the option Mo Correction requiraed’ if the sentence is correct as Zivern.

Mavank is a police officer, (didn't hey?
Options:

1. ¥ isn't he?

2. % won't he?

2. % wasn't he?

4. % Do correction required

Question Number : 126 Question Id : 54592713458 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the word segrment that substitutes (replaces) the braketed word segrment correctly and completes the
sentence meaningfully. Select the option 'no correction required’ if the sentence is correct as given.

Mayank is a police officer, (didn't he)?



Options:

1. % isn't he?
= % won't he?
3. % wasn't he?

4. % No correction required

Question Number : 127 Question Id : 54592713459 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
select the word segment that substitutes replaces) the braketed word segment correctly and completes the
Sentence meaningfully. salect the option Mo correction required’ if the sentence is correct as Zivern,

Harsh scored good marks (but he can have done better),
Options:

1. #* but he will have done better

2 % pbut he could have done better

2. * but he can had done better

4. % No correction required

Question Number : 127 Question Id : 54592713459 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Select the word segrment that substitutes (replaces) the braketed word segrment correctly and completes the
seritence meaningfully. Select the option 'no correction required’ if the sentence is correct as given.

Harsh scored good marks (but he can hawve done better).
Options:

1. # but he will have done better

2. % but he could have done better

2. % but he can had done better

4. % Mo correction required

Question Number : 128 Question Id : 54592713460 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

select the word segrment that substitutes (replaces) the braketed word segment correctly and complates the
sentence meaningfully. Select the option 'no correction required' if the sentence is correct as given.

{Cue to they live in the same city), they never meet.
Options:

1. % Although they live in the same city

Z % However they live in the same city

3. % Therefore they live in the same City

4. % Mo correction required

Question Number : 128 Question Id : 54592713460 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Select the word segrment that substitutes replaces) the braketed word segrment correctly and completes the
senitence meaningfully. Select the option 'no correction required’ if the sentence is correct as given.

Cue to they live in the same city), they never rmeet.
Options:

1. % Although they live in the same city

2. ® However they live in the same city

2. % Therefore they live in the sarme city

4. % MNo correction required

Question Number : 129 Question Id : 54592713461 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

select the word segrment that substitutes replaces) the braketed word segment correctly and completes the
sentence meaningfully. Select the option 'no correction required’ if the sentence is correct as given.

Lalita and Eabita {is good friends).
Options:

1. ¥ are good friends

2. % wms good friends

2. % gre good friend

4. % Do correction required

Question Number : 129 Question Id : 54592713461 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Select the word segrment that substitutes (replaces) the braketed word segrment correctly and completes the
sentence meaningfully. Select the option 'no correction required’ if the sentence is correct as given.

Lalita and Eabita (is good friends).
Options:

1. % are good friends

2. % was good friends

2. % are good friend

4. % No correction required

Question Number : 130 Question Id : 54592713462 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

select the word segment that substitutes replaces) the braketed word segment correctly and completes the
sentence meaningfully. Select the option 'no correction required’ if the sentence is correct as given.

The vourg readers were exciting) to meet their fawourite author.
Options:

1. % The voung readers were excited

2. % The young readers were excitedly

2 % The voung readers will excited

4. % Mo correction required

Question Number : 130 Question Id : 54592713462 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
Select the word segment that substitutes replaces) the braketed word segment correctly and completes the
seritence meaningfully. Select the option 'no correction required’ if the sentence is correct as given.

The young readers were exciting) to meet their favourite author.
Options:

1. ¥ The voung readers were excited

2. % The voung readers were excitedly

2. % The young readers will excited

4. % Do correction required

Question Number : 131 Question Id : 54592713463 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the most appropriate word that fills in the blank correctly and completes the sentence meaningfully.

The _______ tiger killed the traveller instantly.
Options:

1. % weeary

2. * fictitious

2. ¥ ferocious

4. % magnanimous

Question Number : 131 Question Id : 54592713463 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the most appropriate word that fills in the blank correctly and completes the sentence meaningfully.

The _______ tiger killed the traveller instantly.
Options:

1. % weary

2. % fictitious

3. ¥ ferocious

4. % Magnanimous

Question Number : 132 Question Id : 54592713464 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the most appropriate word that fills in the blank correctly and completes the sentence meaningfully.

The main culprit was caught but his
Options:
1. % pervert

ascaped.

2. ¥ accormplice
2. % nemesis

4. % barbarian

Question Number : 132 Question 1d : 54592713464 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Select the most appropriate word that fills in the blank correctly and completes the sentence meaningfully.

The main culprit was caught tat his escaped.

Options:

1. % pervert

2. ¥ accomplice
2. % nemesis

4. % parbarian

Question Number : 133 Question Id : 54592713465 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the most appropriate word that fills in the blank correctly and completes the sentence meaningfully.

Shetried to _____ her age by wearing trendy clothes,
Options:

1. ¥ conceal

2. % stake

3. % frequent

4. % pretend

Question Number : 133 Question Id : 54592713465 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the most appropriate word that fills in the blank correctly and completes the sentence meaningfully.

She tried to _____ her age by wearing trendy clothes.

Options:
1. % conceal

2. % stake
= % frequent
4. % pretend

Question Number : 134 Question 1d : 54592713466 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the most appropriate word that fills in the blank correctly and completes the sentence meaningfully.

The court ________ Shalkeel for want of evidence.

Options:
1. % acquitted

2. % comprehended
2. % facilitated
4. % falicited

Question Number : 134 Question Id : 54592713466 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the most appropriate word that fills in the blank correctly and completes the sentence meaningfully.

The court Shakeel for want of evidence.



Options:
1. % acquitted

2. % comprehended
2. % facilitated
4. felicited

Question Number : 135 Question Id : 54592713467 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the most appropriate word that fills in the blank correctly and completes the sentence meaningfully.

Ravicouldnot _______ due to the constant noise.
Options:

1. % gargle

= ¥ concentrate

3. % juggle

4. % muggle

Question Number : 135 Question Id : 54592713467 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the most appropriate word that fills in the blank correctly and completes the sentence meaningfully.

Ravi could not _______ due to the constant noise.
Options:

1. % gargle

2. ¥ concentrate

2% juggle

4. *® muggle

Question Number : 136 Question Id : 54592713468 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the most appropriate word that fills in the blank correctly and completes the sentence meaningfully.

Thebird ________ her nest and flew away.

Options:
1. # furnished

2. * dilapidated
2. % abandoned
4. % harnessed

Question Number : 136 Question Id : 54592713468 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the most appropriate word that fills in the blank correctly and completes the sentence meaningfully.

Thetbird ________ her nest and flew away.

Options:
1. # furnished



2. * dilapidated
= % ahandoned
4. % harnessed

Question Number : 137 Question Id : 54592713469 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the most appropriate word that fills in the blank correctly and completes the sentence meaningfully.

The teacher the students by asking thern to writé two e55ays.
Options:

1. % punished

2. % reiterated

2. % inhibited

4. % ruminated

Question Number : 137 Question Id : 54592713469 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the most appropriate word that fills in the blank correctly and completes the sentence meaningfully.

Theteacher ________ the students by asking thern to write two e55avs.

Options:
1. ¥ punished

o % reiterated
= # inhibited

4. % ruminated

Question Number : 138 Question 1d : 54592713470 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the most appropriate word that fills in the blank correctly and completes the sentence meaningfully.

_______ the General and reinstated him as the Commander -in—Chief.

Finally the trial court
Options:

1. * indicated

2. ¥ exorerated

2. % excriciated

4. % estranged

Question Number : 138 Question Id : 54592713470 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the most appropriate word that fills in the blank correctly and completes the sentence meaningfully.

Finally the trial court the General and reinstated him as the Comrmander-in—-CZhief.
Options:

1. = indicated

2 % exonerated

3. % excriciated



4. % estranged

Question Number : 139 Question Id : 54592713471 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Some parts of a sentence have been jurnbled up, and labeled P, @, E and 5. Select the option that gives the
correct sequence in which these parts can be rearranged to form a meaningful and granumatically correct
Santerce,

F: at their children

O if they don't want to be
E: parents st stop velling
5: yelled at by their children
Options:

1. % PORS

2. % ROPS

3. % SQPR

4 ¥ RPOS

Question Number : 139 Question Id : 54592713471 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Sorme parts of a sentence have been jumbled up, and labeled P, &, B and 5. Select the option that gives the
correct sequence in which these parts can be rearranged to form a meaningful and grammatically correct
Sertence.

F: at their children

2 if they don't want to be
R: parents must stop velling
5: velled at by their children

Options:

1. % PORS
2. % ROPS
2. % SOPR
4 W RPOS

Question Number : 140 Question Id : 54592713472 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Some parts of a sentence have been jumbled up, and labeled P, &, E and 5. Select the option that gives the
correct sequence in which these parts can be rearranged to form a meaningful and grammatically correct
serntence.

F: in the first half of

Q) independence from the colonial powers
E: twentieth century,

5. many riations gained

Options:

1. % SROF
2. % SRPCQ
= ¥ PRI
4 % POSE



Question Number : 140 Question Id : 54592713472 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Some parts of a sentence have been jurmbled up, and labeled F, &, E and 5. Select the option that gives the
correct sequence in which these parts can be rearranged to form a meaningful and grammatically correct
Sertence,

F: in the first half of

) independence from the colonial powers
E: twentieth century,

S: many nations gained

Options:

1. % SRQFP

2. % SREPO

3. ¥ PRSG

4. % POSE
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Question Number : 141 Question 1d : 54592713473 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



The sentenices of a paragraph have been jumbled up, and labeled P, &, R and 5. Select the option that gives the
correct sequence in which these sentences should be rearranged to form a meaningful paragraph.

F: But the rayor had no tirme for any of this nonsense.

: The elections of the new mayor disturbed many officials.
E: Some of therm tried to distract him.

5. And the others tried to flatter hirm.

Options:

1. % RPOS
2. % SROP
2. % SPOR
4 % QRSP

Question Number : 141 Question Id : 54592713473 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The sentenices of a paragraph have been jumbled up, and labeled P, &, R and 5. Select the option that gives the
correct sequence in which these sentences should be rearranged to form a meaningful paragraph.

F: But the rayor had no tirme for any of this nonsense.

2 The elections of the new mavor disturbed many officials.
E: Some of them tried to distract him.

5. And the others tried to flatter hirm.

Options:

1. % RPOS
2. % SROP
2. % SPOR
4 % QRSP

Question Number : 142 Question Id : 54592713474 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the word that is Closest i meaning to the word Zivenn Delosw,

PEUDENCE

Options:

1. ¥ Tact

2. % Zovert
2% Advent

4. % Repent

Question Number : 142 Question Id : 54592713474 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the word that is Closest in meaning o the word given below.

FPRUDENCE
Options:
1. % Tact

2. % Covert



3. % advent
4. % Repent

Question Number : 143 Question 1d : 54592713475 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the word that is opposite in meaning to the word given below.

ALACRITY
Options:

1. % Liability
2. ¥ Lethargy
3. % Luscious

4. # Melancholy

Question Number : 143 Question Id ;: 54592713475 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the word that 15 opposite i meaning to the word given below.

ALACRITY
Options:

1. # Liability
Z ¥ Lethargy
3. #® Luscious

4. % Melancholy

Question Number : 144 Question Id : 54592713476 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Select the word that is closest in meaning to the word Ziven Deloswr,
SYCOPHANT

Options:

1. ® Caretaker
2. % Huge

3. ¥ Flatterer
4. % Cyclical

Question Number : 144 Question 1d : 54592713476 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Select the word that is Closest in meaning o the word given below.
SYCOPHANT

Options:
1. # Caretaker

2. % Huge
3. % Flatterer
4. % Cyclical



Question Number : 145 Question Id : 54592713477 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
select the word that is opposite in meaning to the word given balow,

COMNCISE
Options:

1. ¥ Lengthy
2. % Short
2. % Mean

4 % Apparent

Question Number : 145 Question 1d : 54592713477 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the word that is opposite in meaning to the word given below.

COMNCISE
Options:

1. ¥ Lengthy
2. % Short
2. % Mean

4. % Apparent

Question Number : 146 Question Id : 54592713478 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the correct word HOMOMNYM that fills in the blank and makes the sentence meaningful.

The angry captain
Options:

1. % wield

= ¥ yelled

3% yeiled

4. % ymiled

at the soldiers for being late.

Question Number : 146 Question Id : 54592713478 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Selact the corract word HOMOMNYM that fills in the blank and makes the sentence meaningful.

The angry captain
Options:

1. % wield

2. ¥ yelled

3. % weiled

4. # ymiled

at the soldiers for being late,

Question Number : 147 Question 1d : 54592713479 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Four words are giverl, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options:

1. % Acessible

2. ® Accesible

3. ¥ Accesable

4 ¥ Accessible

Question Number : 147 Question Id : 54592713479 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word,
Options:

1. % Acessible

2 % Accesible

3. #® Accesable

4 % Arressible

Question Number : 148 Question 1d : 54592713480 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Four words are giverl, out of which only one word is spelt correctly. Choose the correctly spelt word.

Options:

1. # Secreatary
= % Secretry
3. % Sacretary

4. ¥ Secretary

Question Number : 148 Question Id : 54592713480 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options:

1. % Secreatary

2. % Secretry

I, % Sacretary

4 ¥ Secretary

Question Number : 149 Question 1d : 54592713481 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Four words are giverl, out of which only one word is spelt correctly. Choose the correctly spelt word.

Options:

1. % Entrepreneur
= % Entraprensur
3. ® Enterpreneur

4. % Entreprenusr

Question Number : 149 Question Id : 54592713481 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
Four words are giverl, out of which only one word is spelt correctly. Choose the correctly spelt word.

Options:

1. ¥ Entreprensur
2. ® Entrapreneur
3. % Enterpreneur

4. # Entreprenuer

Question Number : 150 Question Id : 54592713482 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the option that best expresses the meaning of the idiom or phrase giverl below.

Fair, cats and dogs

Options:

1. # Buya lot of pets

Z % Tobe surrounded by numerous small problerms
2. % Tobe in a noisy place

4. ¥ Rain heavily

Question Number : 150 Question Id : 54592713482 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
select the option that best expresses the meaning of the idiom or phirase giverl belosw,

Rain, cats and dogs

Options:

1. ® Buy a lot of pets

= % Tobe surrounded by numerous small problerms
2. * Tobein a noisy place

4. % Rain heavily

Question Number : 151 Question Id : 54592713483 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the option that best expresses the meaning of the idiom or phrase giverl below.

Eark up the wrong tree

Options:

1. % Life full of quarrels

2. % To create unnecessary ruckus

2. ¥ Accuse or denourice the wrong person

4. # Have a secret plan

Question Number : 151 Question Id : 54592713483 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
Select the option that best expresses the meaning of the idiom or phrase giverl below.

EBark up the wrorng tree



Options:

1. # Life full of quarrels

2. % To create unnecessary ruckus

2. ¥ Accuse or denourice the wrong persorn

4. % Hawve a secret plan

Question Number : 152 Question Id : 54592713484 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
select the option that best expresses the meaning of the idicm or phrase giverl below

Ev hook ar by crock

Options:

1. ® Suspect something foul

= % Deliberately and without ermotion
2. #* In a strange situation

4. % By fair or foul means

Question Number : 152 Question Id : 54592713484 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the option that best expresses the meaning of the idiom or phrase giverl below.

Ey hook or by crook

Options:

1. % Suspect something foul

2. % Deliberately and without emotion
2. % In a strange situation

4. % By fair or foul means

Question Number : 153 Question Id : 54592713485 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the most appropriate 'one word ' for the expressions given below,

An extreme or irrational fear of confined places
Options:

1. % Dermonormania

2. ¥ Claustrophobia

2. % Cynophobia

4. % Dipsophobia

Question Number : 153 Question Id : 54592713485 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
select the most appropriate 'one word ! for the EXPIEsSI0NSs giverl below.

Anl extreme or irrational fear of confined places
Options:
1. % Dernonorania



2. ¥ Claustrophobia
3. % Cynophobia
4. # Dipsophobia

Question Number : 154 Question Id : 54592713486 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the most appropriate 'orne word ! for the EXPIEsSIoNSs giverl below,

Extreme fear of death
Options:

1. % Hedonophohia

= % Nyctophobia

2. ¥ Thanatophobia
4. % Cynophobia

Question Number : 154 Question Id : 54592713486 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
select the most appropriate 'one word ! for the ERPIessions giverl below,

Extreme fear of death
Options:

1. % Hedonophobia

2. % Nyctophobia

2. ¥ Thanatophobia
4. % Cynophobia

Question Number : 155 Question 1d : 54592713487 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the most appropriate 'one word ' for the expressions given below,

The theory or philosophy of law
Options:

1. # Linguistics

2. % Sernitism

2. ¥ Jurisprudence

4. ® Legitimacy

Question Number : 155 Question Id : 54592713487 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the most appropriate 'orne word ! for the EXPIEsSIoNSs giverl below,

The theory or philosophy of law
Options:

1. # Linguistics

= #® Sernitism

2. ¥ Jurisprudence



4. ® Legitimacy

Sub-Section Number: 2
Sub-Section 1d: 545927801
Question Shuffling Allowed : Yes

Question Id : 54592713488 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (156 to 160)
Cuesticon Label | Comprehension

Eead the passage below and answer the questions that follow.

Kaas plateau 15 a plateau located near Satara. [t 15 situated high hill plateans and grasslands turns into a
valley of flowers' during monsoon season, particularly from August to early October. Kaas FPlatean has more
than 150 or more types of flowers, shrubs and grasses. The orchids bloom here for a period of 3-4 weeks
during this season. Kaas platean is a World Natural Heritage site, part of the Sahyadri Sub-cluster.

It i5 a biodiversity hotspot known for various types of seasonal wild flowers bloom and numerous species of
enderric butterflies annually in the months of August and September [3] The plateau is situated at an altitude
of 1200 metres and is approximately 10 square kim in area. Kaas has more than 250 different species of
floweering plants. These include orchids, shrubs such as the Karvy, and carnivorous plants such as Drosera
Indira. Kaas Pathar is a plateau made from volcanic rocks in the Satara district of Maharashtra, and comes
under the biosphere of the Western Ghats. The flora of Kaas, the entire flowering plants and their related
plants, are typically restricted to that particular locality only. This is because the plateau is largely forrmed of
basalt which is directly exposed to atmosphere. The basalt is almost covered entirely by a thin cowver of soil
formed due to erosion and has accurmulated a layer of not more than an inch or so.

To control possible damage by tourists, the nurnber of visitors to the plateau has been restricted to 2,000 per
day.

Sub questions

Question Number : 156 Question Id : 54592713489 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Eaas plateau 15 a plateau located near which city?

Options:

1. # Dehradun
2. ¥ Satara

= % Pune

4. % Folhapur

Question Number : 157 Question 1d : 54592713490 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Kaas plateau is a subcluster of:

Options:

1. % Sahvadri

2. % Peer Fanjal
=% Western Ghats

4, = Drosera Indica

Question Number : 158 Question Id : 54592713491 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Wwhen does Kaas plateau turn into a 'valley of flowers'?
Options:

1. % July to August

2. % August to early October

2. % June to August

4. % August to January

Question Number : 159 Question Id : 54592713492 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The plateau 15 situated at an altitude of:

Options:
1. % 200 metres

o % 3200 metres
=% 2400 metres
4. % 1200 metres

Question Number : 160 Question Id : 54592713493 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Why is the number of visitors to the plateau restricted to 2,000 per day?

Options:

1. ® Tomake it a rare commodity and charge the tourists exorbitantly
2. % Bercause the roads are narrow

2. % To control possible damage by tourists

4. * Toattract foreign currency

Question Id : 54592713488 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (156 to 160)
Cestion Label | Comprehiension

Eead the passage below and answer the questions that follow.

Kaas platean 15 a plateau located near Satara. It 15 situated high hill plateans and grasslands turns into a
valley of flowers' during monsoon season, particularly from August to early October. Kaas Flatean has more
than 150 or more types of flowers, shrubs and grasses. The orchids bloom here for a period of 3-4 weeks
during this season. Kaas platean is a World Natural Heritage site, part of the Sahyadri Sub-cluster.

It i5 a biodiversity hotspot krown for various types of seasonal wild flowers bloom and nurmerous species of
enderric butterflies annually in the months of August and Septermber [3] The plateau is situated at an altitude
of 1200 metres and is approximately 10 square kim in area. Kaas has more than 250 different species of
floweering plants. These include orchids, shrubs such as the Karvy, and carnivorous plants such as Drosera
Indira. Kaas Pathar is a plateau made from volcanic rocks in the Satara district of Maharashtra, and comes
under the biosphere of the Western Ghats. The flora of Kaas, the entire flowering plants and their related
plants, are typically restricted to that particular locality only. This is because the plateau is largely forrmed of
basalt which is directly exposed to atmosphere. The basalt is almost covered entirely by a thin cover of soil
formed due to erosion and has accurmulated a layer of not more than an inch or so.

To control possible damage by tourists, the nurmnber of visitors to the plateau has been restricted to 2,000 per
day.

Sub questions

Question Number : 156 Question Id : 54592713489 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Kaas plateau 15 a plateau located near which city?
Options:

1. #¥ Dehradun

2. ¥ Satara

3. % Pune

4, % Kolhapur

Question Number : 157 Question Id : 54592713490 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Eaas plateau 15 a subcluster of:

Options:

1. ¥ Sahvadri

2. % Peer Panjal

Z. % Western Ghats

4 # Drosera Indica

Question Number : 158 Question 1d : 54592713491 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wwhen does Kaas plateau turn into a 'valley of flowers'?

Options:

1. % July to August

= ¥ August to early October
% % June to August

4, % Aygust to January

Question Number : 159 Question Id : 54592713492 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The plateau 15 situated at an altitude of:

Options:

1. % 200 metres
2. % 3200 metres
3. % 2400 metres
4. % 1200 metres

Question Number : 160 Question Id : 54592713493 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Why is the number of visitors to the plateau restricted to 2,000 per day?

Options:

1. # Tomake it a rare commodity and charge the tourists exorbitantly
2. ® Because the roads are narrow

2. ¥ To control possible damage by tourists

4. % Toattract foreign currency
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Section Id : 545927669
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Number of Questionsto be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
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Question Number : 161 Question Id : 54592713494 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
AT v 8 o et § 4, 39 Swew @ o0 o =1 g my w2 wiE e & | @ ag o gn

i + I
Options:
1. % goiraw

2 ¥ IudEm
5 ¥ guEw
4. FHTR

Question Number : 161 Question Id : 54592713494 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TrafeET ng 8 or Heedt § 4 39 fowey 37 g9 w¢ = fau Ty gt |47 et & 97 e wg fomew g

JUIC + 0
Options:
1. % JOia®

2 ¥ IudE



3. ® IR
4 ® FACE

Question Number : 162 Question Id : 54592713495 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TaEET v §, o Teent § |, 39 Soen @1 949 o A1 50 0 gee & axt |1 dede @ fdwew gn

TeET

Options:

1. % & + z=a7
2 % &l + geor
3. ¥ I+ gl
4 % w + w3

Question Number : 162 Question 1d : 54592713495 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TateET ng § o Bwedt § 9 39 Swen @1 a9 & A1 =By 7 seg ¥ a3t |t Bege @ Bwew gh

ToEET

Options:

1. % & + z=a7
o % oo + =T
3. ¥ w + gl
4. % T + AT

Question Number : 163 Question Id : 54592713496 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T ng #, o Sweul § 9, 39 [9@e0 &1 =09 & AT AT ar ST @1 Tal [a@meT gl

Options:

1. ¢ g

o % g
3. ® aEwr
4. % T

Question Number : 163 Question Id : 54592713496 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
THeET ng H, ow et # 9, 39 Tdwed @ odd @ S Aidarad a1 @ @51 dwed g

Options:

1. ¥ o

o % miigeg
3 ® aEaw
4 % mmEr

Question Number : 164 Question Id : 54592713497 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Tty va /. ox Seedt 8 9, 39 Swey @1 099 o St @ise # 50 77 g, & Sdr da-r o 9 # aR 1 deed gh
(ef) TTIeT o] gd T I )

Options:
1. ® gauarEs
T

2. ® g 9aaTe
3. ® e 9aqTe

4. ¥ g a=w
LEEi

Question Number : 164 Question Id : 54592713497 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TafeaT v #, or Twedt 8 9, 39 ey o7 o3 3+ 5 wiew # TaU 77 9= 3 @R T & 98 FT AR [deed 5

(ef) T s g T P gl
Options:

1. ® gaudrEE
ECIE

2 % i aeae
2. ® g 9dqaTA

4 ¥ g aerw
LECIE)

Question Number : 165 Question 1d : 54592713498 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Tty v /. ox Swedt 8 €, 39 Swey @7 o9 o F1 fon my areg & ergaw fedw 3 g AT |51 deed g

g # = et 9 Rl
Options:

1. ¢ TegqmaEE

2. % qiAaEE

3. IUEREE
4. % e

Question Number : 165 Question Id : 54592713498 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Traferad v §, o Swedt 8 9, 39 fowey &1 o @3 A7 fau My are & erg|w ferdr 3 9 arar |8t e g

A H AR A G2 7l
Options:

1. & TEgEEE

2. % giAaEE

3. ® UERESE

4. ® gEATHE

Question Number : 166 Question Id : 54592713499 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25

TatEET v # aw Bwedt # €, 39 Swe @72 o S 790 M0 geg & uAigare S & @el fwed Tl 8l
LIEn)

Options:

1. ® et

o ® =

3. ¥ TR

4 % g

Question Number : 166 Question Id : 54592713499 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TateT v # ow Bwedt § 9 39 Swen @1 =749 o At =y 7 seg ¥ vafaamdt seg @ agt Heer =gt 3

niET
Options:

1. % gt
o % T
3. o TR
4 % FriEg

Question Number : 167 Question Id : 54592713500 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TR mg # ow Awedt § 9, 39 ey @ oaq @ S 150 T Seg, F Taiaame Seg %7 50 [deed "51 8l

ey
Options:

1. ¢ Hiele
2. ® gumyg
3. % gdnad
4 % Fig

Question Number : 167 Question Id : 54592713500 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TEmET vg #, or et # 4 39 Been o7 209 @ S B T ge % uaiaar’ geg @1 @R dwed T8l 8

T
Options:

1. Hieie
R EIG)
AR -CIEC)
4 % g

Question Number : 168 Question Id : 54592713501 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



TateT ng #, ow Bweat § 9, 39 Swen &1 =709 & At =iy 77 seg ¥ A e w7 At Swen 3

qE
Options:

1. % g

o ¥ T
3% EgHMr
4. ST

Question Number : 168 Question Id : 54592713501 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TR mg #, oW Hwedt § 9, 39 Hwed @1 oa9 & 91 150 T seg, & B Jeg @7 957 oaed 3

qE
Options:

1. % gEi
2 o TN
3. % FgHEr
4, % amEeq

Question Number : 169 Question Id : 54592713502 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
AT vg # gr Teet # 9 79 Twen o1 909 9 A1 Sy 7Y seg & DA e o w8l dewed 8

hed

Options:
1. % @w
2 % Far
=% T
4 ¥ W

Question Number : 169 Question Id : 54592713502 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TateT ng #, ow Bweat § 9, 39 Swen &1 =709 & At =iy 77 seg ¥ A e w7 At Swen 3

ghed

Options:
1. % @w
2 ® @mar
Z% gor
4 ¥ WA

Question Number : 170 Question Id : 54592713503 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



TafetaT na #, o fHwcul § 8, 39 @5t Bwed @7 997 @ St 2y 70 geg-gm & onf @1 @t Hwer gh
O iE—HwTE

Options:

1. % e afiw o

2. ¥ e o

= % e o

4. % eI

Question Number : 170 Question Id : 54592713503 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T va §, ox Teedt 8 €, 39 951 Wawy &7 g9- = 91 oy 77 Jeg-gm & anf @ gt HweT

g —amTE
Options:

1. % e e o
o ¥ g v
3. % e o
4 ® gy

Question Number : 171 Question Id : 54592713504 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TR ng #, oW wedt § 9, 39 Hwed @7 oa9 & A1 130 T aeny & @0 0% Seg F7 d51 o ol

ICEIREER=EEal,
Options:

1. % fomfor

2 ® fm

2 ® e

4 ¥ Wiy

Question Number : 171 Question Id : 54592713504 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
AT vg H or et # 9 79 Twen o1 o0 @ A1 Ty Ty aeiy & T Ow =g @ el e 8

TeleIT et e
Options:

1. % fomior

2. % TR

3. % T

4, ¥ Ay

Question Number : 172 Question 1d : 54592713505 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



TfeET ng | o Beedt § & 30 99 Haed @ oo o A1 ow v F o 3R Baer gh

Options:

1. et
o % e
3. % it
4. % iy

Question Number : 172 Question Id : 54592713505 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TR mg #, oW Awedl § 9, 39 A5l [dwed &7 90 B¢ A1 106 w09 & o] IR 0weT g

ST T 51 T4 T 2l

Options:

1. ameft
2 % arer
3 8
4 % arrer

Question Number : 173 Question Id : 54592713506 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
AT vg # or et # 4 39 TBeew #7201 Ty T e & qemeEt geg @ B a8 8l

0T

Options:

1. % gErmET
2% II7

z. ¥ aEdtd
4 % FEEe=

Question Number : 173 Question 1d : 54592713506 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TafeET ng # o Bwedt § 9 39 Swen @7 a9 & =t =y 7 seg & aamedt geg @ Bwew a5t 8

U=

Options:

1. % ggrmT
2. % Igr

3. ¥ AT
4 % fdge

Question Number : 174 Question Id : 54592713507 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



ot v #, ox Seedt 8 ¥, 39 951 Daey &7 go- w1 Tos w0 F o0 Suaw Jeg #7951 [deed gl

Options:

1. % a&g
2 ¥ gequ
3 ® gegaf
4 % gegat

Question Number : 174 Question Id : 54592713507 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Tty va §, ox Beedt 8 9, 39 951 TawT &7 g9= = 91 Top v & o0 Suaw g #7951 [deey gl

Options:

1. % a&g
2  gEqu
3 % gegat
4. % Tegat

Question Number : 175 Question Id : 54592713508 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TafeRaT ne 8, o el # 9, 39 ooy 7 9o & 57 §g o8 ®1 d51 [d@ed a1

Options:

1. % aramaniehg
2 % gty
3. v g
4 ® aEATEhy

Question Number : 175 Question Id : 54592713508 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
ot v #, ox Swedt § 9, 39 fowey #7099 & 7 g Jeg #7951 Hhed o)

Options:

1. % sty
o % g
3. v amEidng

4 B Ty

Question Number : 176 Question Id : 54592713509 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TaimiET g 8, or et # 9, 39 ST %7 o0 & 1 T2 S0 916 T 8

Options:

1. % zadt
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3.9 o



Question Number : 176 Question Id : 54592713509 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TEeET vg H, oR Tweat # €, 39 ST %7 o0 @ 1 T2 6 91T T 8l

Options:

1. % zadf
2 % amfe
3. ¥ g

4 % FEET

Question Number : 177 Question 1d : 54592713510 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % remer
2. % el
3. % e
4 & IhTET

Question Number : 177 Question Id : 54592713510 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 178 Question Id : 54592713511 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. angar
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Question Number : 178 Question Id : 54592713511 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
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Options:

1. aiar
= % HETIET
3. % "o
4. % T

Question Number : 179 Question Id : 54592713512 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 179 Question Id : 54592713512 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 180 Question Id : 54592713513 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 180 Question Id : 54592713513 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % (gmAar e f

o % (g wT EE AR

3. ® () S10T AHFT o fol] Sgd Hged o g
4 (W) AT TAGEEHT H 2N



General Hindiz

Group Number : 10
Group Id : 545927670
Group Maximum Duration : 0
Group Minimum Duration : 120
Revisit allowed for view? : No
Revisit allowed for edit? : No
Break time: 0
Group Marks: 20
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

general Hindiz

Section Id : 545927670

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 16

Number of Questionsto be attempted: 16

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 545927803
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Question Number : 181 Question Id : 54592713514 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
ﬁ'ﬂ G R ﬁ@'ﬁﬁ& A =T Tod A @ ey ] -:-HQ

#dzTEmT | (FHaR
Options:

1. % #a @=TEET 9@

o ® ZETEET T EET

. % gerasTHER

4. ¥ W ERT ST G 9T T
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Question Number : 186 Question Id : 54592713519 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Single Line Question Option : No Option Orientation : Vertical
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Question Number : 189 Question Id : 54592713522 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
i ng #, o et § 8, 39 Swew w1 oo o St 9w g g% a1 @7 a5t Hee 50

Options:

1. % war & Ag 5 - caRharee ATdard AlaareeE ST
o, % AT % AT § oA, AT T, A HTie
3. % HaT o UG & cAnhaTod, ST AT i)

4. & HAT & AT 5 - SAhdE, ATddred, ATddmEd HTie)
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Question Number : 190 Question Id : 54592713523 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Single Line Question Option : No Option Orientation : Vertical
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Single Line Question Option : No Option Orientation : Vertical
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Single Line Question Option : No Option Orientation : Vertical
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Question Number : 192 Question Id : 54592713525 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 193 Question Id : 54592713526 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Single Line Question Option : No Option Orientation : Vertical
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Single Line Question Option : No Option Orientation : Vertical
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Question Number : 195 Question Id : 54592713528 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TR ng H, oW fwed! § 9, 39 Aa1 TIwed @7 a9 ¢ A1 o T8 ATwIrs & o] 51 35f araT ey 21

ST TS T2 e o3ta |

Options:

1. % &0 aT g4

2. ® Ao GEET AT

3. ¥ A0 A T eeq | W AR T

4 ® @r T

Question Number : 195 Question Id : 54592713528 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Sub-Section Number: 2
Sub-Section 1d: 545927804
Question Shuffling Allowed : Yes

Question Id : 54592713529 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No
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Juestion Label - Comprehension
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Sub questions

Question Number : 196 Question Id : 54592713530 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Single Line Question Option : No Option Orientation : Vertical
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

ATTNT HT ST oF FTEOT ANT HET TG T 57
Options:

1. & @E-UHT §ig U1 T @7 od &

2 % gg-FF YA AL §

% % gE-iET e T E

4, ® gy H g AT ST AT §

Question Number : 197 Question Id : 54592713531 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
e ToeeT AT 37

Options:

1. ® oo #t Dty a0 @7

2. ¥ SO ATE! T STed T ST e wl wHE @
2 % orEt Bt FEe W

4, ® qI-cHIER W

Question Number : 198 Question Id : 54592713532 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

ST AT e [T AT 87
Options:

1. % gr ey 8 & & 0T

o % gt ar artéer @ A &

3. & A o s

4 % g7 st ATCHIT A A

Question Number : 199 Question Id : 54592713533 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



TAH | FIT - AT S0 & U A Tl 57
Options:

1. % gread

2. % [

3. % T

4. arf

Question Number : 200 Question Id : 54592713534 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TgieET § & @A 59 T @7 JET w5 w5l

Options:

1. % gradan
o ® FAT & MEd
z. ¥ G T EAT
4. ® T AT



